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Topic Break Down

Topic No. of Questions

Topic 1, Guided Performance Analysis 8

Topic 2, Implications of SAP HANA on ABAP Programming 8

Topic 3, ABAP Programming based on SAP HANA Artifacts 4

Topic 4, SAP HANA Basics and Technical Concepts 4

Topic 5, Integration of SAP HANA Coding into ABAP Programs 8

Topic 6, SAP HANA Information Models and Database Procedures 4

Topic 7, SAP Development Tools for SAP NetWeaver 4

Total 40
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QUESTION NO: 1

Which step of the Guided Performance Analysis should you perform in the production system?

A. Collecting data with SQL Monitor (SQLM)

B. Performing an inspection with Code Inspector (SCI)

C. Executing a check run with ABAP Test Cockpit (АТС)

D. Building a work list with SQL Performance Tuning Worklist (SWLT)

ANSWER: A 

QUESTION NO: 2

How many result sets are returned when an SAP HANA database procedure is called the CALL...WITH OVERVIEW 
statement?

A. One result set

B. As many result sets as there are input parameters in the procedure

C. Two result sets

D. As many result sets as there are table output parameters in the procedure

ANSWER: A 

QUESTION NO: 3

Your development team needs to include SAP HANA objects into an ABAP workbench request. You want to use SAP HANA 
Transport for ABAP (HTA), and NOT the SAP HANA Transport Container (HTC).

Why would you choose HTA? (Choose two.)

A. Because you automatically add changed objects to the transport request

B. Because you use the technique that is recommended by SAP

C. Because you always transport entire SAP HANA content packages

D. Because you can manually re-deploy objects after a failed import
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ANSWER: B D 

QUESTION NO: 4

User STUDENT_A creates and activates a design-time object.

In which schema is the runtime object generated?

A. STUDENT_A

B. _SYS_BIC

C. _SYS_BI

D. SYSTEM

ANSWER: B 

QUESTION NO: 5

Which rules does SAP recommend to improve the performance of ABAP reports on SAP HANA? (Choose two.)

A. Use SELECT FOR ALL ENTRIES instead of a nested SELECT statement

B. Perform all calculations and aggregations in the ABAP layer

C. Ensure the WHERE clause contains at least one index field

D. Ensure the access to buffered tables uses the SAP table buffer

ANSWER: C D 

https://dumpsqueen.com/

